   Enzo Varini
accords:
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Pour les couplets :

Répéter Lam, SolM, DoM, FaM.

Rythme au début :

    Lam             SolM               DoM         FaM                              

||----------------------------------|-------0------1------1--1----0--|

||----------1---------------3-------|-------1------1------1--1----0--|

||----------2------------0--0-------|-------0------2------2--2----0--|

||-------2--2-------0-------0-------|--------------3-----------------|

||--0----0-------0---------------0--|--3-----------3-----------------|

||----------------------------------|--------------------------------|

    |       |       |       |          |       |      |      | 


Pour le refrain :

Alterner Rem et Lam2

